Holiday Package For Additional Mathematics Form 4

4   SIMULTANEOUS  EQUATIONS
[image: image1.png]. Solve
simultaneous equations.
2y +x=5

. Solve

. Solve

. Solve

the following

Y+xy=6

. Solve the following
simultaneous equations.
x+2y=10
2 +x=Ty

. Solve the following

simultaneous equations.

2y +3=3x

xy =3

the following

simultaneous equations.
4y - x =11

y-2x=7

. Solve the following
simultaneous equations.
y—2x=3
2 +y* =4x + 39

. Solve the following
simultaneous equations. |
y=1-2x
4 +y*=5

. Solve the

simultaneous equations.
2y +2=3x
y-x'+3=5x
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19.

Solve  the  following |
simultaneous equations.
y-2x=3

xy + 20 =5y

Solve the following
simultaneous equations. "
2y +3x=10

2.3 _

JtrE= 5

Solve the following |
simultaneous equations.
3y=x+3

2 1

3y «x 2

Solve the following !
simultaneous equations. ‘
x=2y+2

P+y=2y+1

Solve the following
simultaneous equations.
y=3x-2

Yoo 2x _

xty =

Solve the following |
simultaneous equations. '
x-3y=22

2y - 3x =xy

Find the values of x and y if
3¢ -y =5x+3y=2x+y+1. |
Find the values of x and y if
3x+y+7=x+x-y=2
Solve the following |
simultaneous equations. |
x+4y=3

X .3 _

2ty =t

Solve  the  following |
simultaneous equations.
x+y=7

4 15 _

~+ 5 = 5

20.

21.

22,

23,

24,
- 25,

| 26.

27

Solve the following
simultaneous equations.
Ix+y=14

X+y =34

Solve the following

simultaneous equations. Give
your answers correct to three
decimal places.

2x+ 3y =10
2 2 _
7+7“5

The equations of A, B and C
are as follows:

A=x-y
B=x+y-1
C=27-11y°

Calculate the values of x and
v such that 24 = B = C.

Calculate the coordinates of
the points of intersection of
the straight line 2x + y = 7

4 3 _
and the curve Yy ° 1.
The line y = 2x — 5 intersects
the curve x> + y* = 7 + xy at
points A and B. Calculate the

coordinates of points A and B.

The line 5y = 1 — 3x meets
the curve x* + 2y* = 3xy at
points P and Q. Find the
coordinates of points P and Q.

If (2p, —g) is a point of
intersection of the line y=x -6
and the curve y = x> — 7x + 10,
where p and g are integers,
find the values of p and gq.

Solve the simultaneous
equations x — y = 3 and
X+ 2y = 6. Give your answers
correct to three decimal
places.




5   INDICES  AND  LOGARITHMS
[image: image2.png]. Solve the following equations. !

(a) 5-125=0
(b) 812x - 95x+2

. Solve the following equations.

o L
@ 4= 15

(b) 2x+6_ 2x+5 — 1

. Solve the following equations. !

(@) 3* = 8l
(b) 471 =32 =0

. If 3¥ = m and 2° = n, express

277 x 18" in terms of m and
n.

2,
. Simplify 37~ ! x 9" + 27°
and find its value when n = 3.

Using the substitution y = 3%, :
find the value of x such that

53 ) =3"+2.

Giventhaty =ax’ -8,y =19 .
when x = 3, and y = 56 when |
x = 4, find the values of a

and b.

Solve the
simultaneous equations.
24 =38

¥ _1

9 3

. Solve the following equations.

(a 5=10
(b) 23xA1 - Sx

Solve the following equations. :

(a) 3 =2
(b) 4x+l =7

following -

12.

13.

14.

15,

16.

17.

18.

19.

. Solve the following equations.

(@ 3log, (x - 1) =log, 27
(b) log, x =9 log 3

Solve the following equations. '

(a) log, x=-1
(b) log, y + log2 y=6

Solve the following equations.
(a) log, 2x-1)=0
(b) logzp + logsp =4

1
(a) log9 n= 5

(b) 21log,8 —log 4=2

Given that log, p —log, g = 2,
express ¢ in terms of p.

Given that log, 2 = m and
log, 8 = n, express log, 6.4 in
terms of m and n.

Given that log, 2 = m and
32 .

log, 3 = n, express log, === in |

9
terms of m and n.

log, v = g, express the

following in terms of p and ¢q. :

(a) logm-lgi

(b) log, \j%

Given that log,, x = m and "
log,,y = n, express the
following in terms of m and n.

(a) log,, xy’
X
(b) Tog,, 100y

20.

21.

2
Solve the following equations.

23.

24,

| 25,
Given that log, x = p and '

26.

. Solve

Given that log, 4 = a and
log, 5 = b, express the following
in terms of @ and/or b.

(a) log, 80

(b) log, 0.75

Without using a calculator,
solve the following equations.
(a) log 8=15

(b) log, x x log, x =3

Given that log,, b = k, find
log, 100 in terms of k.

Given that log, x = m and
log, y = n, express the following
in terms of m and n.

(@) log, xy

(b) log 4y

Given that log 2 = 0.301 and
log 3 = 0.477, evaluate each
of the following.
(a) log, 24°

27
(b) log, 5a
Given that log y = x, express
the following in terms of x.

(a) log, y
(b) log- a

Solve the following
simultaneous equations.

log, x + 3 log, y =2
3x-2y=2

the  following
simultaneous equations.

log, x +2log, y=3
2x-y=6
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